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�AB

�AB and CF are intersecting lines.

��The intersection of .B and plane CGF is point B.

��A. and (. are perpendicular to the plane B(F.

��The intersection of planes A(F, FGC and BCD is
point B.

��AD and BD are coplanar lines.

��AB( and DCG are parallel planes.

Refer to this figure to answer the question. Line DH is parallel
to line IMҀ.рՐрꀅ者倄耀�嚀఑၄ra਀

I-N� is ��e. What is the measure of aEJK?
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) m(aIJN) is 53e. m(aIJN) = m(aPLM). What is the
measure of aFGC?

11) Are aMLG and aFGC supplementary?

12) m(aIJN) is 54e. What is the measure of aJEF?

13) m(aIJN) is 54e. m(aIJN) = m(aPLM). What is the
measure of aFGL?

Categorize each of the following as:  simple, closed, polygonal,
concave polygon, convex polygon

14)

15)

16)
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Use the labeled points in the following drawing to answer the
questions.

17) Which points belong to the interior of the triangle
and the ellipse?

18) Which points belong to the triangle ABD?

19) Which points belong to the exterior of the ellipse?

20) Which points belong to the intersection of the
triangle and the ellipse?

21) Which points belong to the exterior of the triangle
and the ellipse?

22) Which points belong to the interior of the ellipse?

Give the name of the solid.

23)

24)

25)

26)

State whether the pair of triangles is congruent.  If the
information given is not sufficient,  state "No conclusion
possible".

27)

84 in 84 in

28) Decide whether the following figure contains a pair
of congruent triangles.  If so, justify with a property.

Use only a straightedge and compass to construct the
following.

29) Copy Angle B and then bisect Angle C.

Answer the question.

30) Construct a line through a point P parallel to a line
l using  the r䀀々㔠Ŕ䨀̀̀圀䬀䠀̀啀M̀ࠀ啀M̀ࠀ啄倃�



32) Construct the perpendicular bisector of AB.

33) Construct a 60e angle.

34) Use any tools to construct a triangle with angles
measuring 60e and 70e and a non-included side of
8 cm on a side of the 60e angle.

These triangles are similar. Find the missing length.

35)
6 8

3 4
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36)

Convert the units.

37) 0.0054349  km =  mm

38) 42,240  feet =  miles

39) 9 yd =  in.

40) 2736  in.2 =  ft2

41) 70 cm2 =  mm2

42) 63 ft3 =  yd3

43) 75 ft3 =  yd3

Answer the question.

44) If the measure of an angle is 45e 23' 56", what is the
measure if its complement?

45) How many diagonals does a 15 sided polygon
have?

46) What is the measure of each interior angle in a
regular nonagon?

47) A py







83) Find the image of triangle ABC for the size
transformation with center P and scale factor 1/4.

84) Which of the lines in the picture are lines of
symmetry of the given figure?
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Answer Key
Testname: FINAL COPY T103 REVIEW.TST

1) Answer: TRUE

2) Answer: FALSE

3) Answer: FALSE

4) Answer: TRUE

5) Answer: FALSE

6) Answer: TRUE

7) Answer: TRUE

8) Answer: TRUE

9) Answer: 56e

10) Answer: 53e

11) Answer: Yes

12) Answer: 126 e

13) Answer: 126 e

14) Answer: Simple closed curve

15) Answer: Closed curve

16) Answer: simple, closed, poly
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Answer Key
Testname: FINAL COPY T103 REVIEW.TST

78) Answer:

79) Answer:

80) Answer:

81) Answer:

82) Answer:

83) Answer:

84) Answer: No reflection symmetry
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